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The maximum marks printed on the question paper
are applicable for the candidates registered with the
School of Open Leaming. These marks will, hovvvevcr,
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students of regular colleges, at the time of posting
of awards for comhilalion of result.

Answers may be written either in English or in
Hindi; but the same medium should be used
\f\roughout the paper.
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All questions are compulsory and carry equal marks.

(a)

()

Each question has internal choice.
wft 7 A wm wn sfEe #

g W H A% TEE §

TR W B oarafe wma @ g ¥

‘X" was born in Delhi in 1978. Later on he migrated
to Canada in 1999 and took the citizenship of that
country in 2002. His parents were born in Pakistan in
1946, He comes to India for a visit of 182 days durin.g
the previous year 2010-11. Prior to thal he had been
coming to India for a wvisit of 115 days évery year
since 2003-04. Find out his residential status for the.

assessment year 2011-12,

)

“Sharma and Sharmas™ is a Hindu undivided family

based in England. It has two businesses, first one in



(c)

( 3 ) 9594

England and second one in India. Rajat Sharma is the
Karta and he comes to India for 75 days during the-
previous year 2010-11 for the purpose of decision

making in respect of second business. Prior to that

. also he had been coming to India regularly for

100 days since 2000-2001. The first business is
entirely controlled from England. Determine the

residential status of the ‘HUF® for the assessment

year 2011-12. 3

“Manan Setia” is a citizen of India. He has been
employed with an Indian compaﬁ_v since 2006. On
September 1, 2010 Manan left India to join employment
in Germany with a foreign company. During the previous
year 2010-i1 his .income included :

() Salary from Indian Company ¥ 2,60,000

PTO.
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(i) Salary from Foreign Company % 4,70,b00

(i) Interest on bank deposits in. India received in

Germany ¥ 1,30,000

Find out Manan's Total Income chargeable to tax in

o

India for the assessment vear 2011-12,

Define “Previous year”. Under what circumstances the
income of a previous year is taxable in the previous

year itself 2 . 6
=x*wwﬁwﬁﬁ1978ﬁ§aﬂ qaR [
qE 1999 ﬁmww.maﬁx 2002 H
m%ﬁﬁméﬁmmwﬁm
1946 # TiRwE A ¥ g 41 9w oA v

2010-11 ® 182 f‘aﬁ_a'a‘ fom g = am W
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Renuka Desai is a citizen of USA. She left India
during 1982 and got permanently settled in New
York. She was born in India in 1967 and her
husband was also bom in India in ]965. Her parents
were born in UK prior to 1947, however they
migrated to India in 1962 and got permanently

seitled in Delhi. Renuka came to India on 29th

January 2011 and stayed have for 100 days. Prior

to that also she had been coming to India. for 100

days during every previous year since 1986. For the
Previous year 2010-11, she earned il}e following

income/loss,

(7}~ Income from salaries of services

recndered in USA, received there "% 17,96,000

P.TO.
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(if) Income from house property in

India received in USA 22,8400
(iif) Interest on bank deposits in India

receiye‘d in USA ‘ %3.60,000
(iv)- Loss from a business in India

(controtled from USA) "% 1,10.000

(¥) Income from a business in

Sri Lanka (controlled from India) T 1,90,000

(v) Interest on bank deposits in USA

subsequently remitted to India T 2,64,000

Compute Renuka’s Total Income and tax liability for
assessment year 2011-12, assuming she is not entitled

to deductions under section 80 C to 80 U. 9

()  Who is an assessee under the provisions of Income

Tax Act ? Explain fully. 6
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T 2.84.000

T 3,60.000

7 1.10.000

T 1,90.000

7 2,64,000

T A, fef ad 2001-12 % fore, w5 o

IR -y = afwwed @ sfine & Wy
AT FF I M s0c A 80 0 F B s

FATA F owE TG &
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(@) GTM'EF{ afafram =t sraeneil & siwla fife
B2 iﬂm T ol w oW wwEEy

‘Z’ retired from Reserve Bank of India a étatutory corporation,

on "30-6-2010. At the time of retirement his remuneration

included :

() Basic salary : T 32,000 p.m. (annual increment of ¥ 4,000;

given on 1-1-2010]

(i)  Deamess allowance : 25% of basic salary (40 percent

was part of retirement benefits)
(i) ']'"ransport allowance : T 4,200 p.m.
(v)  Entertainment allowance : ¥ 3,000 p.m.

(V)  Rent free accommodation owned by the employer at
Delhi. It was furnished with a cost of ¥ 80,000 incurred

by the¢ employer 5 years ago.

P.T.O.



( 12 ) 95%4
On ‘retirement, his pension wa; ﬁxed at T 18,000 p.m.
40 per cent of the pension was commuted hy employer on .
1-10-2010 and a sum of ¥ 540.000 was paid in- lieu
thereof. Z also received a sum of ¥ 2.96.000 for’ una\;ailed
leave of 222 days. He was entiled 1o a lcave of 36 days
for each coinpleted year of service. Total service period of
Z was '28 vears and 9 months. After retirement *Z° went
back to his home town Assam a—nd occupied his own
house. The employer gave him ﬁve tickets of “Air India”
flight, each worth ® 23,000. The tickets werg meant for *Z7,

his wife and three children (one of the child was eight. .

years old).

Besides the income from employment *Z’  reported the

following income :

(a) . Long-term capital gains T 80,000
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(b) ~ Gifts from friends on the occasion

of retircment ¥ 1,32,000
()  Gifts from relatives < 93,000
{(d) Income of minor child T 19,500

He invested ¥ 70,000 in Public Provideni Fund and ¥ 40,000
in Kisan Vikas Patra. Compute the tota! income and tax liability

of ‘Z’ for the assessment year 201]-12, 15

‘70 30-6-2010 H figd 9% afw <fem 4, st f®
wifafi Fom ¥, FaF g @ e B

Iow wRgfm # 4 e 4

() I8 A 232,000 T W TR (2 4000 I AGE
|
1
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ﬁsﬁ 3 fie &t Z 1,32,000
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© wTEE | fe ¥ 93.000
() I T3 H AW 219,500

SEHY T 70,000 Hﬁaﬁm ufesy fafa 7 R 2 40.000
fram foe o § frafm frn oz @ fufor o
2011-12 % Q. @ 3@ W H-3g@ w1 afiewer

Hifag |

(3reTam)

(@)  Explain in detail the provisions under section
80 GG regarding deduction in respect “of the refit.
paid. 5
(6) How is the t_.ax treatment of education allowance different

from that of education facility under the Income Tax

Act ? K
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Duiring the previous year 2010-11 ‘X’ enjoyed the

following allowances/perquisites in addition to basic

salary of ¥ 25,000 p.m.

() Car facility [1.6 litres] for private and official
purpoées. All expenses wh.ich are‘ T 1,68,000
(in;lud!n‘g salary of the driver) bbmq by employer,
‘X' was made to pay a token amount of T 500

p-m. fijr the same.

(i) Loan of X 4.00,000 [for personal purposes] @ i‘O
percent per annum received on 1-6-2010. It was
repayable in 5 Ahaff yearly instalments of equal
amaount sfarting from 31-:I2;2010. SBVI charges

16 per cent for similar loans.

Compute gross salary of ‘X’ for assessment year

201112, s

PTO.
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G 2 4,00,000%! ww (afkr &M @ faw)
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*X* owns two residential houses. You are requested to

compute his “Income™ under the head ‘house .property’

for the assessment year 2011-12. Details of the two

houses are as follows :
House |-Delhi—Letout :

»  Municipal value ¥ 2,40,000 p.a.
T

PT.O.
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. Fair market rent ¥ 2,80.000 pia.
. Rent receivable ¥ 23,000 p.m.
. Vacancy 2 months
. Municipal Tax—10 percent (Paid on 3.1/3/2011)

. Interest on borrowed capital—l.oan of ¥ 6.00.000
was raised on 1-4-03 for the construction of this.house_‘
Conslruction‘ was started on 1-4-02 and was completed
on 10-10-08. H.aif of the loan was repaid on 31-3-07.

Ratc of _iﬁterest was 12 percent per annum,
House ll—Gurgaén-Self-océupied :

+ Municipal Value 7 1.80.000 pa.

+  Standard Rent T 1,50,000 pa.

* Municipal Taxes 2 18,000 p.a.

House il was constructed on 31-1-2008 with a' loan

of ¥ 8,00,000 raised on 1-4-2004. Interest payable
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was 10 per cent per annum. Entire loan and interest.
of the current previous year was outstanding as

on 31-3-2011. 10

What is a “Capital asset” under the income Tax
Act 9 5
X% A om ww o fufon
2011-12 & fau ‘g wwfe’ widw & eﬂ'cﬂh
maﬂuwaﬁwm%«ﬁaﬁﬁ
TR TR oG W w ¥ :‘

TFM A 1 foeet # @ feme | R fem
. .

TR Mm@ R

T e = T 240000 W o

! .
31%@ R R — 7 2,80,000 WA W
'. |

PT.O.
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HHEHA T 11 31-1-2008 aﬁrmm ™ ai IEsED
fer 7 8,00,000 F F 142004 1 foF T a1
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fogdt =8 &= = 31-3-201{ Eﬁr‘ T A
(@) st sfufEm ® skt g R @
Bt ¥ 2
or

(3reg=m)
(@) During the previous year 2010-11, Ruchi sells the

following capital assets :

Sale Price  Expenses on Transfer

z
Land 48,00,000' ‘l per cent
Gold | 50,00,000 n‘il
Listed del}entu;'es £,00,000 1 per cent

P.T.O.
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Land was inherited by Ruchi from her father who
died in 2004-05. Father acqgired the land on 1-1-1980
for T 30,000 and its fair market value on 1-4-1981 was
T 2.00,000. Ruchi had forfeited a sum of ¥ 1.60.000
in- 2007-08 in -respeo.:t of -that -land from an interested
buyer. She spent this money on the boundary wall

of that land in the same year.

Gold was purchased on 22-3-09 for ¥ 48.60.000 'and
listed - debentures were'pﬁrchased on 17/6/08 for
T 3,40,000. ‘She invested the entire sale proceeds of
gold and listed debentures: .in the bonds of -NHAI

(tenure 5 years) within six months from the date of
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transfer. She purchased a residential house property

for T 46,00,000 out of the sale proceeds of land on

3132001,

Financial Year Cost Inflation Index
.]981~82 100
2004—05‘ 480
2007-08 351
2008-09 582
2009-10 632
2010-1 om

Compute Ruchi’s total income and tax liability for the
assessment year 2011-12. - 10

PTO.



(b)

( 26 ) 9594

‘X" is a non-resident for 2010-11. He carned the following

income during the previous year in India :

() Net agricultural income ¥ 540,000

(i Income from business T 3,00,000
(iif) Income from other sources ¥ 2.60,000

He made the foliowing donations during the previous

year :
(4 Donation to Prime Minister Relief Fund % 20,000
(I'l')‘ Donation to Charitable Trust 3 40,000‘
(¢ii) Donatipn to De’fhi government for

promoting tfamiiy planning . . -¥ 30,000

Compute the tax liability of *X’ for the assessment year

2011-12 5
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QAT 22-3-09 I ¥ 48.60,000 § Bl @ s T
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(@) X 2010-11 # fou sfert ¥ sy wme
froat ad ﬁw%ﬁaa A afda #i
0 T N e 2 540000 |
() TEEE ¥ AT T 300,000
(ii)y 3T @?ﬁ | A 2 2,60,000
1 ot ad & S Frefafea T fu .
NORR LR mmaﬁqﬁ TH . 220,000
(i wwid =y ﬁ TH 7 40,000
(i) oot W&ER w1 2@ . vREw
frism = dafia mﬁ w fau 30000
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“Awesome Three” a firm of civil engineers is into the business
of providing complete home solutions. X' 'Y and ‘Z’ are

three partners and the firm follows cash system of accounting,

PTO.
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For the previous year 2010-11 the “Receipt and Payment

Account” is as follows :

Particulars , 4 Particulars T
To Balance b/d 2.00.000 | By Ofiice rent paiﬁ w7 " 3.00.000
To Contract Charges : By Salaries nf&"ﬂaﬁ" 2.30.000
2010-11 | $,00.000 | By Donation to Dethi
S 2011-12 3.00,000 University 1.00.000
201ﬁ-] 3 2.00,000 | By Purchase of matetjals
To Interior decoration for interior decoration 4.30.000
charges ) 8.{0. 0001 By Purchase of air-
To Sale of Preference — conditioner for office
shares (Indexed on 1-1§-2010 90,000
cost being ¥ 5.20,000) 1 9.00.000 | By Interest to Partners : '
To Interest on drawing: @@ 16%
X 14.000 X 1.60.000
Y 16.000 Y 2.40.000
To dividend from A 1.44.000
Indian company 30.000 | By Sundl:)' expenses 1.40.000
To sale of old books By Balance‘cfd 15,06.000
on 8/10/2011 40,000
Total 33,460,000 Total 33.40.000
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You ‘are i‘unher informed :

0

()

{iii)

(v}

o)

(vi)

(vii)

Service Tax of T 5,40,000 was paid on 16/7/2011.

Donation to Delhi University was given for scientific

research,

Purchase of materials for interior decoration included a

bill of ¥ 40,000 paid by cash.

Mr. ‘2’ had letout his personal building to the fim

which was used as office by the firm.

Outstanding fees from clients for previous year 2010-11

were T 1,90,000.

Written down value of the block of books on 1-4-2010

was ¥ 25,000

Written down value of the block of plant/machinery,

(depreciable @ 15 percent) on 1-4-2010 was 4,40,000.

PT.O.



(viif) The firm paid remuneration of 2 6,00.000 each to the .
three partners. This is not shown in the Receipt and
Payment Account. The payment of remuneration as well

as interest to partners is as per Partnership Deed.

(ix}) The firm is carrying forward business losses of the

assessment year 2009-10; amount ¥ 2.40.000. '
(x}  Due date of filing return for the firm is 30/9/2011.

Compute the total income and tax liability of firm for assessment
year 2011-12. Also determine the total income of *X°, Y’

Cand 7' 15
Vm @ i fofsm e S @ wH Qo
T THEl & Iqeed FUA W STOEET FX @ T

X, Y @R ‘;*?ﬁ'nr qrER %.aﬂ? w4 SEERT H
T 9Sla @ egEw st ¥ fusm ad 2010-01
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& fou wiied v el =1 den fretfafen &9

7%
feaor v |FEvor 2
Frurfta 9w 200,000 | FTatem 1 o 2
e & o = e @ 3,00,000
2010-11 8.00,000 | FHH=TH %4 2,30,000
2011-12 3.00,000 | el favafamcm
2012-13 2,00,000 | HITH 100,000
ST TR H i g @ ferg |
o= 840,000 | W R Gl 4,30,000
it i = Fratera & fog w-
fa (garifaa FHESIAA H
W 2 5,20,0008) | 9,00000 | 1112010 TR 90,000
SR T W : | il 6t =T
X 14000 | 16% B AR
Y 16,000 X H 1,60,000
LieGip e aa skl ¥ 2,40,000
LRSI N 30,000 ‘2 1,44,000
. U g &t fafay = 1,40,000
famt snonon1 =] 40,000 | U 15,06,000
M 33,40,000 | 4 33,40,000

P.T.O.
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i) /AT D TF wve W OwErm e (15%
CE W X gemE fom W owwd-R) 14-2000

T 7 4,40,000 B

iy FH A ?ﬂ'—i yrferd # & wE W T 6,00,000
w1 wiefs fam @ wfed i srmfr
4 4@ % v @ e T b e
F smEh R WE @ el B oW R®
sErh st faea B ?RIHR%I

(ix) wd frefor @ 2009-10 B HEEETG @A R
s w¢ @ ¥ 7 240000 ¥

@ W P e ofga w0 R osfw ade
50!90011%1 |

mﬁﬁﬁaﬁmaﬁ w12 & faw Fw@ s 3R

T T e PR W @ X, v o 2

LIl am @ fufor sifs)

P.TO.



(a)

(5)

©

( 36 ) 9594
Or
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How would you compute capital ‘gains on depreciable

assets under section ‘50°. 5

A partnership firm has two pariners “A’ and ‘B’. They
have contributed % 6,00,000 each as capital and
¥ 2,00,000 each as loan. Parmership deed alfow;v» payment
of interest on loan as well as capital @ 16 per cent
per annum and remuneration of ¥ 500,000 to each of

the partner,

If profits of the firm after paying interest but before

'deducting remuneration of partners are ¥ 7.60,000,

determine the total income of the firm, 5

Write a short note on carry forward and set-off of

unabsorbed depreciation, 5
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Explain any three of the following : 15

(@)  Provisions relating to clubbing of income of minor child

under section 64(1A).

(b) Provisions relating to set-off and carry forward of capital

losses.

{¢) Verdict delivered by the Supreme Court in the case of

CIT V5. Raja Benoy Kumar Sahas Roy.

@ Exemption‘ of long term capital gains under section 54,
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Or
(e
Discuss any lhrge--of the following : i5
(4)  Provisions relating to clubbing of income of spouse
~under section 64(/)(i7} and 64()(iv).
(b)  Provisions relating to set off and carry forward of

business losses.

(¢}  Deduction in respect of Royalty Income of Authors

under section 80QQB.

(d)  As per the verdict delivered by the Supreme Court in

the case of Sheila Kaushik V5. CIT, the gross annual

value of a let out property cannot exceed the standard

rent,
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